Answer Key (no work shown)
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4. +2d11 8. AGHJ = AKJH

L AAS
a) ho > grliszolriili_r{g parts
b) 15, 24.69 congruent triangles
c) 16..12
J. K.
a) a)
1. BE bisects AD 1. wz i xy
Given Given
2. AD bisects BE 2. LVWZ = 2VXY
Given Corr. angles
3.AC=CD 3. 2vzw = 2VYZ
Def'n bisector Corr. Angles
4. BC=CE 4. AVWZ ~ AVXY
Def'n bisector AA

5. Z/BCA= /DCE

Vertically opposite angles b) 4
6. ABCA= ADEC c) 40/3

SAS d) 24,7
7. AB =ED
corresponding parts
congruent triangles L.
1. 80
b) 2. 84
l.GH 1 HJ 3. 100
Given 4. 24
2. KJLHJ 51959
Given 6' 7 6
3. £G=ZK T
Given 7.54/12 or 4.5

4. s/GHJ a rt. angle
Def’n perdicular

5. zkJH art. angle
Def’n perdicular

6. /GHJ = /KJH
rt. angles congruent

7.HI=HJ

common side



